



Vendor Ranking

Call Order: 006

Page 1 of 1

291.39%

Letting: 01181220 December 20, 2018 11:00

Non-Winning Bid

E1S19-R0 Contract:

District:

District 1

MERRELL'S GRADE-ALL, INC.

Counties: DESOTO, DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS GLADES, HARDEE,

Project(s): 43265017255 (*)

\$149,971.00

5

Contract Desc: Outfall Ditch Cleaning and Reshaping.

AM

HENDRY, HIGHLANDS

Percent Of Bid Type Bid Status Total Bid Rank Vendor Low Bid **ROGAR MANAGEMENT & CONSULTING OF** Winning bid 100.00% 1 Responsive \$51,468.00 FLORIDA LLC 2 Responsive Non-Winning Bid \$73,287.50 MOVING EARTH INC. 142.39% 3 MIDWESTERN CONSTRUCTION, INC Responsive Non-Winning Bid \$106,125.00 206.20% 4 THUNDERHOLE, INC Responsive Non-Winning Bid \$111,500.00 216.64%

Responsive

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 3

Letting: 01181220

December 20, 2018

Call Order: 006

Contract: E1S19-R0

District: District 1

Counties:

Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

DESOTO, DIST/ST-WIDE, GLADES, HARDEE, HENDRY,

Project(s): 43265017255 (*)

Contract Descr: Outfall Ditch Cleaning and Reshaping.

HIGHLANDS

The work under this Contract consists of Outfall Ditch Cleaning and reshaping.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAN CONSULTING C	F FLORIDA	(2) MOVING E	EARTH INC.	` '	VESTERN ICTION, INC
() indicates item is bid as Lump Sum		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 OUTFALL DITCHES, CLEAN AND REPAIR (LF)							
0005 0120 9 1 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH UP TO 1	3,650.000 LF	2.83000	10,329.50	1.25000	4,562.50	4.50000	16,425.00
0010 0120 9 2 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH 15-30'	7,500.000 LF	3.11000	23,325.00	1.50000	11,250.00	7.00000	52,500.00
0015 0120 10 21 CLEAN AND RESHAPE DITCH, HAUL, DITCH WIDTH UP TO 15'	3,650.000 LF	1.49000	5,438.50	6.50000	23,725.00	3.00000	10,950.00
0020 0120 10 22 CLEAN AND RESHAPE DITCH, HAUL, DITCH WIDTH 15-30'	7,500.000 LF	1.65000	12,375.00	4.50000	33,750.00	3.50000	26,250.00
0001 OUTFALL DITCHES, Section CLEAN AND REPAIR (LF)	tion Totals:		\$51,468.00		\$73,287.50		\$106,125.00

Contract Grand Totals:	\$51,468.00	\$73,287.50	106,125.00





Tabulation of Bids

Page 2 of 3

Letting	j: 01	181220 D	ecember 20,	2018 Cal	l Order: 006		Contract:	E1S19-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) THUNDER	RHOLE,INC	(5) MERRELL'S			
	licates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 OUTFALL DITCHES, CLEAN AND REPAIR (LF)									
	0120 9 1 CLEARING OF ATION, DITCH	LARGE WIDTH UP TO	3,650.000 LF 15'	5.00000	18,250.00	3.54000	12,921.00		
	0120 9 2 CLEARING OF ATION, DITCH	LARGE WIDTH 15-30'	7,500.000 LF	5.00000	37,500.00	5.84000	43,800.00		
	0120 10 21 AND RESHAPI VIDTH UP TO	E DITCH, HAUL 15'	3,650.000 , LF	5.00000	18,250.00	5.00000	18,250.00		
	0120 10 22 AND RESHAPI VIDTH 15-30'	E DITCH, HAUL	7,500.000 , LF	5.00000	37,500.00	10.00000	75,000.00		
	001 OUTFALL CLEAN AND R	DITCHES, See EPAIR (LF)	ction Totals:		\$111,500.00 [°]		\$149,971.00		

Contract Grand Totals:	\$111,500.00	\$149,971.00



12/27/2018

Tabulation of Bids

Page 3 of 3

Letting: 01181220 December 20, 2018 **Call Order:** 006 **Contract:** E1S19-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.